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To be tested — Terminal

2.1.1
2.1.2
2.1.3
2.1.4
2.1.5
2.1.6
2.1.7

In/Out Check
Unsettled Check
Out Process
Transfer Check
Fare Calculate

Balance Check

Minus Fare




To be tested — Terminal

2.2.1
2.2.2
2.2.3

2.2.4
2.2.5
2.2.6
2.2.7

Data Controller

Accumulated Data Save

Account System
Trigger

Card Update
Display Time
Display O

Display X




To be tested — Account System

Account

2.5 Finish Signal Send




Not to be tested — Account System

Account Data Save

2.3 Account Data Display

2.4 Bus / Metro Send




03 Unit Test Plan



PTS_UTC_000_000
PTS_UTC_000_001
PTS_UTC_000_002
PTS_UTC_000_003
PTS_UTC_000_004
PTS_UTC_000_005
PTS_UTC_000_006
PTS_UTC_000_007
PTS_UTC_000_008

PTS_UTC_000_009

2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck
2.1.1 IN/OutCheck

2.1.1 IN/OutCheck

7tE BEe} THE|
7tE EEe} THEY|
7tE EEe} THEY|
7tE EEe} THEY|
7tE BEe} THEY|
7lE HEol TH7|
7tE EEe} THE|
7tE BEe} THEY|

7tE EEe} THEY|

Test ldentification — Terminal
Identifier |Feature |Valid/Invalid value |

=X |1 E I} tag==1T} S A0 SofL},

L
T

-
-T-

~
]

7lE dEet TR +H

Ej 18 27} tag==21} SA|0| S0{2C}.

Ef2E E 7} tag=

=31t SA[o| S0{2L}.

Ef2E 27} tag==41 SA|0| SO{=2CL.

Efl 176 27} tag
Ef 2%H H 7} tag
Ef 1% 27} tag

Ef 176 27} tag

El 1% E 7} tag

51} SA0| S0{ 2L},
61} SA0f| S0{=2LC}.
71t SA|0] SO0{2C.
81t A0 S0{2C}.

91} SA0f| S0{=2C}.

Ef 1 7} tag==101 SA|0] SO{2L

PTS UTC 001 001 2.1.2 UnsettledCheck HI2 9| HE7LinQ MEIZR FIEHE T E0{2L}.

PTS UTC 001 002 2.1.2 UnsettledCheck HI2 F9 HHI} out?! HE{E FIEEEI} SO{ 2L},

PTS UTC 002 000 2.1.3 OutProcess Ht2 F9 HME7linQ ME 2 FIE™EE T E0{ 2Lt

PTS_UTC_002 001 2.1.3 OutProcess HI2 He QH7} outdl HEHZE FIEH R I} S0{ 2L}




Test Identification — Terminal
Identifier |Feature |Valid/Invalid value |

PTS UTC 003 000 2.1.4 TransferCheck nsettledCheckResultZ} 00|11, H}2 9| ElS L£CHO| HHAQI AE R FIE
HHEII S0{2Ct

PTS UTC_ 003 001 2.1.4 TransferCheck  nsettledCheckResultZ} 10|11, HI2 H cl StHo|1 HMHQ|
EtSTHo] HHAO0| MXL Mo| BE 7} 1200|5191 MEf2FIE
HI7I E0{2C}

PTS_UTC 003 002 2.1.4 TransferCheck  unsettledCheckResultZ} 10|11, H}2 Fo| Et&54CHO| X|5}H 0|1 HMZE 9|
EHS o] HHAO0| MM mt M| BHSA|ZE X7} 1200]51Q1 HEf 2 FIE
dH7I S0{ 2L}

PTS UTC 003 003 2.1.4 TransferCheck  unsettledCheckResultZ} 10|11 THo| HHA 0|1 HF 9|
EtxAC0| X|Sp-0|D XMXa} x10| F7F 1200|5121 AEf 2 7}
E¥BII E0{2Lt.

PTS_UTC 003 004 2.1.4 TransferCheck unsettledCheckResultZ} 10|11, H}2 X 9| EtSCho| X|SpAEQI AEf 2
FIEdH 7} S0{2LC}.

PTS_UTC 003 005 2.1.4 TransferCheck  unsettledCheckResultZ} 20|11, H}2 Qo] Et&S ‘.:_ | HAO|X1 HZ H
at sdx =S A|ZHe| X7} 1200|°}°I HEE FIEH B I} S0{ 2L}

PTS UTC 003 006 2.1.4 TransferCheck unsettledCheckResult7} 10|11, HI2 Fo| EF&Z4clo| X|SlH0|n MFA9|
(Bus) EtS4-THO| HHA QI ME 2 9f'=""57f =0 =2C},

PTS UTC_003 007 2.1.4 TransferCheck  unsettledCheckResultZ} 20|11, Ht2 Fo| Et&4-Clo| X|5}H 0| HIE
(Bus) Ha x| 5 AIZEo| X7t 1200|51Ql MEHZ FIE™HE I E0{ 2L}

PTS_UTC_004 000 2.1.5 FareCalculator  unsettledCheckResultZ} 00] 11, transferCheckResultZ} 00| 11 ®x{f THZ
7| IDQ} Ht 2 HOo| THa7| ID2| Xto| HriZto| 20|40l HEfZE FIEHE I}

Sof2rt.




Test Identification — Terminal

Identifier | Feature | Valid/Invalid value

PTS_UTC_004_001

PTS_UTC_004_002

PTS_UTC_004_003

PTS_UTC_004_004

PTS_UTC_004_005

PTS_UTC_004_006

PTS_UTC_004_007

PTS_UTC_004_008

PTS_UTC_004_009

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator

2.1.5 FareCalculator
(Bus)

unsettledCheckResultZ} 00|11, transferCheckResultZ} 1
7| IDe} HE 2 Fo| THa7| ID2| Xte| HEHZt*3000] 6000] TRl AFEH
CEdRII S0{ 2L},

unsettledCheckResultZ} 00| 11, transferCheckResultZ} 10|11 S4xj

7| 1DQ} HIE Ho| THHT| |D2| Xte| FHEHZt*3000| 6000|&Ql MEIE 7
CEdHII S0{ 2L},

unsettledCheckResultZ} 10|11, transferCheckResultZ} 121 AEjZ2 F}=
HHEI} S0 2Lt

unsettledCheckResultZ} 10|11, transferCheckResultZ} 221 AEjZ F}=
HMHEI} S0{2Ct

A2 7t

unsettledCheckResultZ} 10| 1, transferCheckResultZ} 39!
HHEI} E0{2Ct

unsettledCheckResultZ} 10| 1, transferCheckResultZ7} 1,2,30] Ol AF
Ei2 7[EHE I} S0{2C}.

unsettledCheckResultZ} 20| 11, transferCheckResultZ} 12!
HHEI} E0{2Ct

JEI2 JIE

unsettledCheckResultZ} 20|11, transferCheckResultZ} 10| OfLl ArEf 2
FIE™EI E0{ 2L}

unsettledCheckResultZ} 00|11, transferCheckResultZ} 10|11
(timeCalculate(dpp,2)/30)*100>7002! HEj2 FIEH LI} E0{2C}




Test Identification — Terminal

Identifier | Feature | Valid/Invalid value

PTS_UTC_004_010

PTS_UTC_005_000

PTS_UTC_005_001

PTS_UTC_005_002

PTS_UTC_005_003

PTS_UTC_005_004

PTS_UTC_005_005

PTS_UTC_005_006

PTS_UTC_005_007

PTS_UTC_005_008

PTS_UTC_005_009

PTS_UTC_005_010

2.1.5 FareCalculator

(Bus)

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

2.1.6 BalanceCheck

unsettledCheckResultZ} 00|11, transferCheckResultZ} 10|11
(timeCalculate(dpp,2)/30)*100<7009! AEjZ FIEHEH I} S0{=2C}

unsettledCheckResultZ} 10|11, transferCheckResultZ} 121 A#EjZ F}=
HHEII S0{2Ct

unsettledCheckResultZ} 10|11, transferCheckResultZ} 10|11 7} E9| %t
Q10| 1650Q! AE{E FIE-HE I} SO{2C}.

unsettledCheckResultZ} 10|11, transferCheckResultZ} 20|11 7}E2| Xt
oH0] 17500| &0l MEjE FIE™HEH 7} S0{2C}.

unsettledCheckResultZ} 10| 11, transferCheckResultZ} 20|11 7}E9| FF
oio| 17500|2H01 MEjZ FIE™KE I} E0{ 2L},

unsettledCheckResultZ} 10| 11, transferCheckResultZ} 30|11 7}E9|
CHo| 12500]| 401 MEjZ FIE™MKE I} E0{2C}.

unsettledCheckResultZ} 10| 11, transferCheckResultZ} 30|11 7}E2| T
oio| 12500|2H01 MEjZ FIE™HE I} E0{ 2L},

unsettledCheckResultZ} 10|11, transferCheckResultZ} 1,2,30| OfL| 1
7tE9o| Ftelo| 10500| &Ql MEfZE FIEHHI} S0{ =L}

unsettledCheckResultZ} 10|11, transferCheckResultZ} 1,2,30| OfL| 1
Ft=9o| Ttelio] 10500]2HQ! ME E FIEHE T S0{2LC}.

unsettledCheckResultZ} 20| 11, transferCheckResultZ} 10|11 7}E9| Tt
CH0| 6000|At01 AMEfZ FIE™EH T} E0{ 2L}

unsettledCheckResultZ} 20| 11, transferCheckResultZ} 10|11 7}E9| Tt
oi0| 6000|2FO1 AEfZ FIE™EH T} E0{ 2L}

unsettledCheckResultZ} 11} 27} OfL| 11, 7}E 0| XteH0| 10500] &l 4
Ei£ 7IE™E7I S0{2C}.




Test Identification — Terminal

Identifier | Feature | Valid/Invalid value

PTS_UTC_005_011

PTS_UTC_006_000
PTS_UTC_006_000

PTS_UTC_007_000

PTS_UTC_008_000

PTS_UTC_009_000

PTS_UTC_010_000
PTS_UTC_011_000

PTS_UTC_012_000

2.1.6 BalanceCheck

2.1.7 MinusFare
2.1.7 MinusFare

2.2.1 DataController

2.2.2
AccumulatedDataSave

2.2.3
AccumulatedDataSend

2.2.4 CardUpdate

2.2.6 DisplayO

2.2.6 DisplayX

unsettledCheckResultZ} 11} 27} OfL| 11, Z}E9] XteHo| 10500] Tl &
El2 7IEJE 7} E§0{=2C}.

balanceResultZ} 121 &#E|2 FIE-HE I} SO{ 2L},
balanceResultZ} 10| O}l #EfZ2 FIE-HH I} SO{ 2L}

JE 7} inO| ALt ¢z HSEE7l out0] 1 oIXY &
7t 22 dH2 IEE R} SO0{2Ct

BRI} S0{2Lt.

O] AjZto] Z=7|Zto| ofL| 1 Xl Emet o|HEm 7t CHE BHII S0=2
Et.

H4bE FtEEH A 4HE SHRI| SHEj QY B I S0{ 2L
balanceResultZ} 12 #Ej2 FIE™HE I} E0{2C}.

balanceResultZ} 10| O}l MEj2 7}EHEH 7} E0{2C}.




Test Ildentification — Account System

Identifier | Feature | Valid/Invalid value

PTS_UTC_013_000 2 AccountSystem E2|AH7} 12 HEfE S0{=2LC}.

PTS_UTC_013_001 2 AccountSystem E2|AH7} 10| ol MEfE SO0{=2LC}

PTS UTC 014 000 2.1 Account THo| HHAO| 11 E5230| 1000|4 7000|512 ME{Z FIEHEH T}
C}.

PTS_UTC_014_.001 2.1 Account 0] HAo|1 BS5R270| 16502 HEHE 7IEHEHI} S0{2C}
PTS_UTC_ 014.002 2.1 Account o] HAo|1 E&5L30] 17502 HEHZE FIE™HEHII E0{2C}
PTS_UTC_014_.003 2.1 Account 0] HAo|1 E&5L30] 12502 HEHZE 7IE™HE I E0{2C}
PTS_UTC_014_.004 2.1 Account o] HAo|1 BES830| 10509 MEHE FIEFYHI} E0{2CL
PTS_UTC_014.005 2.1 Account cho| X|spEo|n E582 30| 2009 MElZ FIEHEII E0{ 2Lt
PTS_UTC_014.006 2.1 Account cho| X|spEo|n E582 20| 3002 MEl2 FIE-HEII E0{ 2L},
PTS_UTC_014_007 2.1 Account tho| X|shHo|1 ©&5 R 30| 6002 HEjE FIEHE T S0{ 2L}
PTS_UTC_014.008 2.1 Account cho| X|stEo| 1 E58 30| 16509 MEjZ FIEHE I S0{2C}
PTS_UTC_014.009 2.1 Account cho| X|spEo|n E52 30| 17500 MEj2 FIE-HEII S0{2Ct,
PTS_UTC_014.010 2.1 Account F=Cho] X|stEo| E5230| 12509 HEHZ FIEH It E0{2C}

PTS UTC 014 011 2.1 Account £CHo| X|5lHo|1 EFS 2 30| 10500 MEZ FIE™MH I E0{2C}




Test Ildentification — Account System

Identifier | Feature | Valid/Invalid value

PTS_UTC_015_000 2.6 finishSignal triggerZ} 1¢! &EjZ2 SO{2LC}




ream2 Test Case Specification

Test Case Identifier | Input Specification Output Specification

PTS_UTC_000_000 CARD *dpp / count[] / tag== dpp[0].ID=1 / count[0]++ / dpp[0].means=Metro (Metro)
dpp[0].ID=6 / count[5]++ / dpp[0].means=Bus(Bus)

PTS_UTC_000 001 CARD *dpp / count[] / tag== dpp[0].ID=1 / count[0]++ / dpp[0].means=Metro (Metro)
dpp[0].ID=6 / count[5]++ / dpp[0].means=Bus(Bus)

PTS_UTC_000_002 CARD *dpp / count[] / tag==3 dpp[0].ID=2 / count[1]++ / dpp[0].means=Metro (Metro)

PTS_UTC_000_003 CARD *dpp / count[] / tag==4  qpp[0].ID=2 / count[1]++ / dpp[0].means=Metro (Metro)
PTS_UTC_000_004 CARD *dpp / count[] / tag== dppl0].ID=3 / count[2]++ / dpp[0].means=Metro (Metro)
PTS_UTC_000_005 CARD *dpp / count[] / tag== dppl0].ID=3 / count[2]++ / dpp[0].means=Metro (Metro)
PTS_UTC_000_006 CARD *dpp / count[] / tag==7  gpp[0].ID=4 / count[3]++ / dpp[0].means=Metro (Metro)
PTS_UTC_000_007 CARD *dpp / count[] / tag== dppl0].ID=4 / count[3]++ / dpp[0].means=Metro (Metro)

PTS_UTC_000_008 CARD *dpp / count(] / tag== dpp[0].ID=5 / count[4]++ / dpp[0].means=Metro (Metro)

PTS_UTC_000_009 CARD *dpp / count]] /tag==10 dppl0].ID=5 / count[4]++ / dpp[0].means=Metro (Metro)

PTS_UTC_001_000 dppl[1].inout==in unsettledCheckResult=1 / dpp[0].inout=in
PTS_UTC_001_001 dpp[1].inout==out unsettledCheckResult=2 / dpp[0].inout=in

PTS_UTC_002_000 dppl[1].inout==in dppl[0].inout=out

PTS UTC 002 001 dppl[1].inout==iout dppl[0].inout=out




eam2  Test Case Specification
Input Specification Output Specification

transferCheckResult=2

PTS_UTC_003_000

PTS_UTC_003_001

PTS_UTC_003_002

PTS_UTC_003_003

PTS_UTC_003_004

PTS_UTC_003_005

PTS_UTC_003_006

PTS_UTC_003_007

PTS_UTC_004_000
PTS_UTC_004_001

PTS_UTC_004_002

usc==0 && dpp[1].means==Bus

usc==0 && dpp[2].means==Bus
&8 timeCalculate(dpp, 1)<=120
usc==1 && dpp[1].means==Me
tro && dpp[2].means==Bus &&
timeCalculate(dpp, 1)<=120
usc==1 && dpp[1].means==Bus
&& dpp[2].means==Metro &&
timeCalculate(dpp, 1)<=120
usc==1 && dpp[1].means==Me
tro

usc==2 && dpp[1].means==Bus
&8 timeCalculate(dpp, 2)<=120
usc==1 && tcr==1 && dppl[1].
means==Metro && dpp[2].mea
ns==Bus (Bus)

usc==2 && dpp[1].means==Me
tro && timeCalculate(dpp, 2)<=
120 (Bus)

ucr==0 && tcr==0 && |dppI0].
ID-dpp[1].ID|>=2

ucr==0 && tcr==1 && |dpp[0].
ID-dpp[1].ID|*300<600

ucr==0 && tcr==1 && |dpp[0].
ID-dpp[1].ID|*300>600

transferCheckResult=1

transferCheckResult=1

transferCheckResult=2

transferCheckResult=3

transferCheckResult=1

transferCheckResult=3

transferCheckResult=1

fare=200

fare=abs(atoi(dpp[0].ID)-atoi(dpp[1].ID))*300

fare=600




eam2  Test Case Specification
Test Case Identifier | Input Specification Output Specification

PTS _UTC 004 003 ucr==1 && tcr== fare=1650
PTS_UTC 004 004 ucr==1 && tcr== fare=1750

PTS_UTC_004_005 ucr==1 && tcr==3 fare=1250

ucr==1 && (tcr'=1 && tcr!'=2
&& tcr!=3)

PTS_UTC 004 007 ucr==2 && tcr== fare=0

PTS_UTC_004_006 fare=1050

PTS_UTC_004_008 ucr==2 && tcr!=1 fare=1050

ucr==0 && tcr==1 && (timeCal
culate(dpp,2)/30)*100>700 (Bus)
ucr==0 && tcr==1 && (timeCal
PTS _UTC 004 010 culate(dpp,2)/30)*100<=700 (Bu fare=(timeCalculate(dpp,2)/30)*100
s)

PTS_UTC_004_009 fare=700

ucr==1 && tcr==1 && dppl1].
money< 1650

ucr==1 && tcr==1 && dppI[1].
money>=1650

ucr==1 && tcr==2 && dppI1].
money<1750

ucr==1 && tcr==2 && dppI1].
money>=1750

ucr==1 && tcr==3 && dppI1].
money<1250

PTS_UTC 005 000 balanceCheckResult=0

PTS UTC 005 001 balanceCheckResult=1
PTS UTC 005 002 balanceCheckResult=0
PTS UTC 005 003 balanceCheckResult=1

PTS_UTC 005 004 balanceCheckResult=0




eam2  Test Case Specification
Input Specification Output Specification

PTS_UTC_005_005

PTS_UTC_005_006

PTS_UTC_005_007

PTS_UTC_005_008
PTS_UTC_005_009
PTS_UTC_005_010
PTS_UTC_005_011

PTS_UTC_006_000

PTS_UTC_006_001

PTS_UTC_007_000

PTS_UTC_008_000

PTS_UTC_009_000

ucr==1 && tcr==3 && dppI1].
money>=1250

ucr==1 && tcr!=1 && tcr!=2 &
& tcrl=3 &&dpp[1].money<105
0

ucr==1 && tcrl=1 && tcr!=2 &
& tcr!=3 &&dpp[1].money>=10
50

ucr==2 && tcr==1 && dppl1].
money<600

ucr==2 && tcr==1 && dppI1].
money>=600

ucr!=1 && ucr!=2 && dpp[1].m
oney<1050

ucr!=1 && ucr!=2 && dpp[1].m
oney>=1050

bcr==1 / fare

bcr!=1 / fare

dppl0].inout==in || (dpp[0].inou
t==out && dpp[0].time[6]==dp
pl[1].time[6] && dpp[0].time[7]=
=dpp[1].time[7])

CARD *dpp

olddate!=00000000 & & (date[6]!=0
Iddate[6] || date[7]!=oddate[7])

balanceCheckResult=1

balanceCheckResult=0

balanceCheckResult=1

balanceCheckResult=0
balanceCheckResult=1
balanceCheckResult=0
balanceCheckResult=1
dpp[0].money=dpp[1].money - fare

LED Command

DataControl Command

Accumulated.txt dppX &

AccountTrigger.txt 15 %




ream2 Test Case Specification

Test Case Identifier

PTS_UTC_010_000
PTS_UTC_011_000
PTS_UTC_012_000
PTS_UTC_013_000

PTS_UTC_013_001

PTS_UTC_014_000

PTS_UTC_014_001

PTS_UTC_014_002

PTS_UTC_014_003

PTS_UTC_014_004

PTS_UTC_014_005

Input Specification Output Specification

CARD *dpp / int count(]
bcr==1 / CARD *dpp
bcr!=1 / CARD *dpp
trigger==

trgger!=1

dpplil.means==Bus && dppli].f
are>=100 && dpplil.fare<=700
/ int* BusMoney / int* MetroMo
ney

dpplil.means==Bus && dpplil.f
are==1650/ int* BusMoney / int
* MetroMoney
dpplil.means==Bus && dpplil.f
are==1750/ int* BusMoney / int
* MetroMoney
dpplil.means==Bus && dppli].f
are==1250/ int* BusMoney / int
* MetroMoney
dpplil.means==Bus && dpplil.f
are==1050/ int* BusMoney / int
* MetroMoney

dpplil.means==Metro && dppli
].fare==200/ int* BusMoney / in
t* MetroMoney

card.txt dppX| & count.txt countX %
LED Command

LED Command

Account Command

LED Command

BusMoney += dppli].fare

BusMoney += (1050+218) /

MetroMoney += 382
BusMoney += (1050+420) /

MetroMoney += 280
BusMoney += 1050 /

MetroMoney += 200

BusMoney += 1050

MetroMoney += dppli].fare




ream2  Test Case Specification
Input Specification Output Specification

PTS_UTC_014_006

PTS_UTC_014_007

PTS_UTC_014_008

PTS_UTC_014_009

PTS_UTC_014_010

PTS_UTC_014_011

PTS_UTC_015_000

dpplil.means==Metro && dppli
].fare==300/ int* BusMoney / in
t* MetroMoney
dpplil.means==Metro && dppli
].fare==600/ int* BusMoney / in
t* MetroMoney
dpplil.means==Metro && dppli
].fare==1650/ int* BusMoney / i
nt* MetroMoney

dpplil.means==Metro && dppli
].fare==1750/ int* BusMoney / i
nt* MetroMoney

dpplil.means==Metro && dppli
].fare==1250/ int* BusMoney / i
nt* MetroMoney

dpplil.means==Metro && dppli
].fare==1050/ int* BusMoney / i
nt* MetroMoney

trigger==

BusMoney -= 459 /

MetroMoney += 759
MetroMoney += 1008 /

BusMoney -= 408
MetroMoney += (1050+218) /

BusMoney += 382
MetroMoney += (1050+420) /

BusMoney += 280
MetroMoney += 1050 /

BusMoney += 200

MetroMoney += 1050

finsihSignal Command




04 Unit Test Result




Test Case ldentifier

PTS_UTC_000_000 Pass
PTS_UTC_000_001 Pass
PTS_UTC_000_002 Pass
PTS_UTC_000_003 Pass
PTS_UTC_000 004 Pass
PTS_UTC_000_005 Pass
PTS_UTC_000_006 Pass
PTS_UTC_000 007 Pass
PTS_UTC_000_008 Pass

PTS_UTC_000_009 Pass

PTS_UTC_001_000 Pass

PTS_UTC_001_001 Pass

PTS_UTC_002_000 Pass

PTS_UTC 002_001 Pass




Test Case ldentifier

PTS_UTC_003_000 Pass
PTS_UTC_003_001 Pass
PTS_UTC_003_002 Pass
PTS_UTC_003_003 Pass
PTS_UTC_003_004 Pass
PTS_UTC_003_005 Pass
PTS_UTC_003_006 Pass

PTS_UTC_003_007 Pass

PTS_UTC_004_000 Pass

PTS_UTC_004_001 Pass

PTS_UTC_004_002 Pass

PTS_UTC_004_003 Pass

PTS_UTC_004_004 Pass

PTS_UTC 004 005 Pass




Test Case ldentifier

PTS_UTC_004 006 Pass
PTS_UTC_004_007 Pass
PTS_UTC_004_008 Pass
PTS_UTC_004_009 Pass
PTS_UTC_004 010 Pass
PTS_UTC_005_000 Pass
PTS_UTC_005_001 Pass

PTS_UTC_005_002 Pass

PTS_UTC_005_003 Pass

PTS_UTC_005_004 Pass

PTS_UTC_005 005 Pass

PTS_UTC_005_006 Pass

PTS_UTC_005_007 Pass

PTS_UTC 005 008 Pass




Test Case ldentifier

PTS_UTC_005 009 Pass
PTS_UTC_ 005 010 Pass
PTS_UTC_005_011 Pass
PTS_UTC_006_000 Pass
PTS_UTC_006_001 Pass
PTS_UTC_007_000 Pass
PTS_UTC_008_000 Pass

PTS_UTC_009_000 Pass

PTS_UTC_010_000 Pass

PTS_UTC_011_000 Pass

PTS_UTC_012_000 Pass

PTS_UTC_013_000 Pass

PTS_UTC_013_001 Pass

PTS_UTC_014_000 Pass




Test Case ldentifier

PTS UTC 014 001 Pass
PTS_UTC_014_002 Pass
PTS_UTC_014 003 Pass
PTS_UTC_014_004 Pass
PTS_UTC_014_005 Pass
PTS_UTC_014_006 Pass
PTS_UTC_014_007 Pass
PTS_UTC 014_008 Pass
PTS_UTC_014_009 Pass
PTS_UTC_014.010 Pass

PTS_UTC 014 011 Pass

PTS_UTC_015_000 Pass










